
Calculations - Draft 

 

𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑙𝑢𝑔𝑠 (1𝑥 𝑅𝑒𝑝𝑒𝑎𝑡 𝑜𝑟 1𝑥 𝐶𝑎𝑟𝑡𝑜𝑛) = 10.5" 𝑜𝑟 0.2667𝑀 

𝑀𝑎𝑥𝑖𝑚𝑢𝑚 𝑟𝑒𝑞𝑢𝑖𝑟𝑒𝑑 𝑠𝑝𝑒𝑒𝑑 = 450 𝐶𝑎𝑟𝑡𝑜𝑛𝑠/𝑀𝑖𝑛𝑢𝑡𝑒  

𝐿𝑖𝑛𝑒𝑎𝑟 𝐶ℎ𝑎𝑖𝑛 𝑆𝑝𝑒𝑒𝑑 = 450 𝑥 0.2667 = 120𝑀/𝑀𝑖𝑛𝑢𝑡𝑒 𝑜𝑟 2 𝑀/𝑆 

 

 

𝐶ℎ𝑎𝑖𝑛 𝑝𝑎𝑡ℎ 𝑝𝑖𝑡𝑐ℎ 𝑐𝑖𝑟𝑐𝑙𝑒 𝑎𝑟𝑜𝑢𝑛𝑑 𝑡𝑒𝑛𝑠𝑖𝑜𝑛 𝑎𝑟𝑚 = 1.73" 𝑅𝑎𝑑𝑖𝑢𝑠 

𝐴𝑟𝑐 𝑙𝑒𝑛𝑔𝑡ℎ 𝑜𝑓 1.73" R @ 90 degrees = 2.72" 𝑜𝑟 69𝑚𝑚 

𝑇𝑖𝑚𝑒 𝑡𝑎𝑘𝑒𝑛 𝑓𝑜𝑟 𝑐ℎ𝑎𝑖𝑛 𝑡𝑜 𝑝𝑎𝑠𝑠 90 𝑑𝑒𝑔𝑟𝑒𝑒𝑠 𝑜𝑓 1.73" 𝑅 =  
69

2000
= 0.0345 𝑆𝑒𝑐𝑜𝑛𝑑𝑠 

𝑆𝑝𝑒𝑒𝑑 𝑜𝑓 𝑐ℎ𝑎𝑖𝑛 𝑎𝑟𝑜𝑢𝑛𝑑 1.73" 𝑅 =  2𝑀/𝑆 

 

 

𝐴𝑟𝑐 𝑙𝑒𝑛𝑔𝑡ℎ 𝑜𝑓 8" R @ 90 degrees = 12.57" 𝑜𝑟 319𝑚𝑚 

𝑇𝑖𝑚𝑒 𝑡𝑎𝑘𝑒𝑛 𝑓𝑜𝑟 𝑐ℎ𝑎𝑖𝑛 𝑡𝑜 𝑝𝑎𝑠𝑠 90 𝑑𝑒𝑔𝑟𝑒𝑒𝑠 𝑜𝑓 8" 𝑅 = 0.0345 𝑆𝑒𝑐𝑜𝑛𝑑𝑠 

𝑆𝑝𝑒𝑒𝑑 𝑜𝑓 𝑡𝑖𝑝 𝑜𝑓 𝑙𝑢𝑔 𝑎𝑟𝑜𝑢𝑛𝑑 8" 𝑟𝑎𝑑𝑖𝑢𝑠 =   
0.319

0.0345
= 9.25𝑀/𝑆 

𝑇ℎ𝑒 𝑡𝑖𝑝 𝑜𝑓 𝑡ℎ𝑒 𝑙𝑢𝑔 𝑡𝑟𝑎𝑣𝑒𝑙𝑠 𝑎𝑟𝑜𝑢𝑛𝑑 𝑡ℎ𝑒 90 𝑑𝑒𝑔𝑟𝑒𝑒 𝑏𝑒𝑛𝑑 462.5% 𝑓𝑎𝑠𝑡𝑒𝑟 𝑡ℎ𝑎𝑛 𝑡ℎ𝑒 𝑐ℎ𝑎𝑖𝑛 

 

 

 

 

 

 


